2.3 Worksheet

(= (-2 (22 | Sinzzb

*{agemd

e KEY

1.) Find the exact value of the six trigonometric functions if the terminal side of the angle
2 contains the point P = (=5, —12) = (&, 0D
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2.) Find the exact value of the other five trigonometric functions for the angle = (without

finding x) for each of the following:
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3.) A point (x,y) lies on a circle if it satisfies the equation z? + y=r%. Check to see if the
following points lie on the given circles. If it does not lie on the given circle, write the

equation of the circle it does lie on.

(a.) P=(3,4); 22+3y*>=36
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So P is on +he 31\/6!\ circle
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4.) Find the six trig functions of § = 20° if the terminal side of € in standard position

contains a point on the circle 2% 4+ 3% = 9? if the terminal side contains a point on the
circle 2% +¢% = 1?7
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5.) Find sine, cosine, and tangent of the following angles if the terminal side of the angle in

standard position contains a point on the circle 2* + y* = 1. (Hint: convert the angles
to degrees and then use special right triangles.)
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